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Aun 435% quaratwise, Arcl Asym: Bearm ON, Laser OFF
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Fun 4369 quanetwise. Sbg2 Acym: Baam ON, Lasar OFF
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Fun 4358 quanetwise, DSba2 Asyir: Baarh 0N, Lassr OFF
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Aun 4355 quarmabwise. Side Finger Asyrin: Beam O, Laser OFF
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Flun 4358 quanetwise, LISba1 Asym: Baam ON, Lasar DFF

Flun 4359 quanetwise, DSba1 Asym: Baam O, Lasar DFF

Flun 4350 quanetwise. Tap Fnger Atyri: Baarm OM, Lasar OFF
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Acc0 Asym (ppt): 231.22 +/- 289.67
USbg1 Asym (ppt): 1.15 +/- 3.24
USbg2 Asym (ppt): -1.58 +/- 1.46
DSbg1 Asym (ppt): 0.61 +/- 0.74
DSbg2 Asym (ppt): 0.55 +/- 0.69

Top Finger Asym (ppt): 0.53 +/- 1.42

Side Finger Asym (ppt): -0.18 +/- 1.06
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Run 4352, quartetwize: USbg1 vs time
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. Run 4358, quartetwise: DSbg1 vs time
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. Run 435%, quartetwise: vertFing vs time
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Run 4359, quartetwise: USbg2 vs tima
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_ Run 4358, quartetwise: DSbg2 vs time
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_ Run 4359, quartetwise: horizFing vs tima
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